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Correspondence to the National Science Education Standards
(NSES)

This unit relates to the following NSES physical science content standards in grades 5-
8:

Properties and Changes of Properties in Matter

“A substance has characteristic properties, such as density, a boiling point, and
solubility, all of which are independent of the amount of sample.”

“Substances react chemically in characteristic ways with other substances to form new
substances (compounds) with different characteristic properties.”

Electrical circuits provide a means of transferring electrical energy when heat, light,
sound, and chemical changes are produced.”

Transfer of Energy

“Energy is a property of many substances and is associated with heat, light, electricity,
mechanical motion, sound, nuclei, and the nature of the chemical. Energy is transferred
in many ways.”

“Heat moves in predictable ways, flowing from warmer objects to cooler ones, until
both reach the same temperature.”

Electrical circuits provide a means of transferring electrical energy when heat, light,
sound, and chemical changes are produced.”
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This unit relates to the following NSES physical science content standards in grades 9-12:

Conservation of Energy and the Increase in Disorder

“The total energy of the universe is constant. Energy can be transferred by collisions
in chemical and nuclear reactions, by light waves and other radiation, and in many other
ways. However, it can never be destroyed.”

e “Heat consists of random motion and the vibrations of atoms, molecules, and ions. The
higher the temperature, the greater the atomic or molecular motion.”

* Everything tends to become less organized and less orderly over time. Thus, in all

energy transfers, the overall effect is that the energy is spread out uniformly. Examples

are the transfer of energy from hotter to cooler objects by conduction, radiation, or

convection and the warming of our surroundings when we burn fuels.”

Interaction of Energy and Matter

* “In some materials, such as metals, electrons flow easily, whereas in insulating materials
such as glass they can hardly flow at all.”
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Correspondence to the Benchmarks for Science Literacy

4E Energy Transformations

8th grade

* Energy cannot be created or destroyed, but only changed from one form to another.

* Energy in the form of heat is almost always one of the products of an energy
transformation.

12th grade

*  Whenever the amount of energy in one place or form diminishes, the amount in other
places or forms increases by the same amount.

* Transformations of energy usually produce some energy in the form of heat, which
spreads around by radiation or conduction into cooler places.

4G Forces of Nature
12th grade
* Different kinds of materials respond differently to electric forces. In conducting
materials such as metals, electric charges flow easily, whereas in insulating materials
such as glass, they can hardly move at all.

3C Issues in Technology
8th grade
* Technology has strongly influenced the course of history and continues to do so. Itis
largely responsible for the great revolutions in agriculture, manufacturing, sanitation and
medicine, warfare, transportation, information processing, and communications that have
radically changed how people live.

11A Systems

8th grade

* Thinking about things as systems means looking for how every part relates to others.
The output from one part of a system (which can include material, energy, or
information) can become the input to other parts. Such feedback can serve to control
what goes on in the system as whole.

* Any system is usually connected to other systems, both internally and externally. Thus
a system may be thought of as containing subsystems and as being a subsystem of a
larger system.
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8th

12t

8th

12th grade

Understanding how things work and designing solutions to problems of almost any
kind can be facilitated by systems analysis. In defining a system, it is important to
specify its boundaries and subsystems, indicate its relation to other systems, and
identify what its input and output are expected to be.

1C The Scientific Enterprise
grade
No matter who does science and mathematics or invents things, or when or where they
do it, the knowledge and technology that result can eventually become available to
everyone in the world.
h grade
Progress in science and invention depends heavily on what else is happening in society,
and history often depends on scientific and technological developments.
Science disciplines differ from one another in what is studied, techniques used, and
outcomes sought, but they share a common purpose and philosophy, and all are part of
the same scientific enterprise. Although each discipline provides a conceptual structure
for organizing and pursuing knowledge, many problems are studied by scientists using
information and skills from many disciplines. Disciplines do not have fixed boundaries,
and it happens that new scientific disciplines are being formed where existing ones meet
and that some subdisciplines spin off to become disciplines in their own right.

8B Materials and Manufacturing
grade
The choice of materials for a job depends on their properties and how they interact with
one another. Similarly, the usefulness of some manufactured parts of an object depends
on how well they fit together with other parts.
Manufacturing usually involves a series of steps, such as designing a product, obtaining
and preparing raw materials, processing the materials mechanical or chemically, and
assembling, testing, inspecting, and packaging. The sequence of these steps is also
often important.
Modern technology reduces manufacturing costs, produces more uniform products, and
creates new synthetic materials that can help reduce the depletion of some natural
resources.
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12th grade

* Scientific research identifies new materials and new uses of known materials.

* Manufacturing processes have been changed by improved tools and techniques based
on more thorough scientific understanding, increases in the forces that can be applied
and the temperatures that can be reached, and the availability of electronic controls that
make operations occur more rapidly and consistently.
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Logical Construction of Module

Exp. 1: Investigate filament resistance
of single wattage light bulb

v

Exp. 2: Investigate temperature
dependence of filament resistance of
single wattage light bulb.

v

Exp. 3: Investigate electrical properties
of 3 way bulbs.

“

Investigate the 3 Investigate the 3
way bulb way switch socket

Iy

Investigate 3 way bulb in 3 way switch socket

;

Exp. 4: Design a light bulb and investigate
how to fabricate one.

v

Exp. 5: Dissect a light bulb to determine the
reasons for its design.

y

Exp. 6: Fabricate a light bulb that can operate
in air.
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Introduction

The development of the incandescent light bulb by Thomas Edison initiated the
electrification of modern society and revolutionized the world. This module is intended to
introduce the history, fabrication, materials and physics of light bulbs to high school
students. Concepts such as Ohm's law, electrical power, energy conservation, electrical
resistance and resistivity and blackbody radiation can be enhanced using this unit. Parts of
this unit can be tailored for middle school use.

Basic Physics

When a light bulb is turned on using a switch, a constant (ac) voltage V of
120 volts is applied across the filament. Since the filament has a high resistance, because of
its fine diameter and long length (see equation 4 below), a small amount of current flows
through the filament according to Ohm's law

=V,
R

where I is the current through the filament, V is the voltage across the filament and R is the
resistance of the filament.

The filament then becomes hot, since the amount of power P produced in the
filament is

P=V2. (2)
R

It is important to note that since the voltage is a constant in our electrical distribution system,
the form of the equation for the power dissipated in a resistor should be that shown in

equation 2, and should not be P=I2R. Since V is a constant, equation 2 relates one variable

- R - to another variable - P. If the equation P=I2R was used, then P, I, and R would all be
variables.

All objects emit radiation, which was first correctly described by the German
physicist Max Planck. The total power emitted per unit surface area (S) of a hot object at a
temperature T (in degrees Kelvin) is given by the Stefan-Boltzmann law:

P =¢0T4, (3)
S

where the constant o, called the Stefan-Boltzmann constant, has the value 5.67 x 10-12

W/(cm2-K#4). The emissivity of the material € is a material dependent quantity that can be
looked up in a handbook. For tungsten, the value of € is about 0.3. Note that the symbol o
is also used to represent the electrical conductivity of a material, so that care must be taken
in its use so that confusion does not result.

Now for a long cylindrical filament of radius r and length L, the cross sectional area
A is 2 and the surface area S is 27trL (ignoring end effects). Recall that the electrical
resistance R of material is given by

© GA Sciences Education Foundation 1996-2002, All Rights Reserved
9



R=pL. (4)

where p is the electrical resistivity of the material. For tungsten at room temperature, the

value of pis 5.7 x 10-6 ohm-cm.
The final equation that will be used in this unit is the equivalent resistance of 2
resistors in parallel or series. For 2 resistors of resistance R, and R , the equivalent

resistance of their parallel combination R is

=1+1 or Rp=(R;xR). (5)
R, R R, R +R)

For 2 resistors in series, the equivalent resistance of the series combination R is

R,=R +R .(6)

Equations 1- 6 form the basis for the all of the calculations performed in this unit.
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Advanced Topic

Combining equations 2 and 4, we find that the power dissipated in the filament can
be written as

P=V'ar. 7
pL
Since the voltage in our houses is fixed, it is apparent from equation 2 that for
higher wattage bulbs, the electrical resistance of the filament must decrease as the wattage

increases. From equation 4, R can be decreased by increasing A (i.e. r2) or by decreasing
L. Therefore, for higher wattage bulbs, it is necessary to either increase r or decrease L.
This may also be seen from equation 7. Since the power will increase as the square of r and
only as 1/L, it is simpler to just increase r. Also, it is preferable to increase r since this
increases the surface area of the filament. Note that decreasing L decreases the surface area
of the filament. This is evident in table 1 below.

From the Stefan-Boltzmann law, the power emitted by the filament can also be
written as

P=coT4(2nrL). (8)

From this equation, we can see that the bulb wattage (brightness), filament temperature
(lifetime), filament radius and length are all interdependent. As noted above, it is desirable
to maximize the surface area of the filament by increasing r. As can be seen from equation
8, if the power is increased, it is desirable to increase r and L to minimize the increase in T.
This is because higher temperatures reduce the lifetime of the filament (although increasing
its light output).

From energy conservation considerations, the power dissipated in the filament
(power input) must equal the power emitted by the filament (power output). (This neglects
other energy loss mechanisms). Therefore equations 7 and 8 can be equated. After some
algebra we find that

T=Vr (9)
2eocpL
Equation 9 demonstrates the interdependence of the filament temperature and the filament
radius and length.
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Introduction to Filament Design Parameters:

Background Material for Teachers

Filament diameters and lengths for different wattage light bulbs are shown in the
table below. Don't disclose the length of the filament to your students! They will discover
it by calculating this number shortly and they will also determine it experimentally. The
values in table 1 below were obtained from a GE light bulb brochure.

Table 1: Filament Diameter and Length for Different Wattage Bulbs

Bulb Wattage (W) Filament Diameter (cm) Uncoiled filament length
(cm)
25 0.0030 56
40 0.0033 38
60 0.0046 53
75 0.0053 55
100 0.0064 58
200 0.0102 72

(For a 60 W bulb, the length of the filament is 53 cm long. The filament, as will be
seen later in the dissection experiment, consists of a coiled coil. After the first coiling, the
filament length is 8.3 cm and consists of 1100 turns. This coil is then coiled again so that

its final length is only 2.0 cm long!)

Let's calculate the resistance of the filament in two different ways from the table
above. Note that the resistance that we are calculating is the resistance of the filament
when it is on, i.e. when it is hot. The electrical resistivity of tungsten at the operating

temperature of about 3000 K (2700 C) is about 8.6 x 10-5 ohm-cm or 15 times its room
temperature value. Recall that the resistance of metals increases with increasing
temperature. This value is to be used in the calculation of the last column below.
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Table 2: Filament Resistance When the Bulb is On Calculated in 2 Ways for Different
Wattage Bulbs

Bulb Wattage (W) R (ohms)z\i R (ohms) = pL

P A

25 576 681

40 360 382

60 240 274

75 192 214

100 144 155

200 72 76

To demonstrate in detail how these values were determined, we show the 100 W
calculation in detail below.

R =V’ =120 V) = 144 ohms.

P 100W
R = pL = (8.6 x 10~ ohm-cm) x (58 cm) = 155 ohms.
A 1(0.0032 cm)’

Note that the values are in relatively good agreement except for the 25 W filament
resistance. This suggests that the 25 W filament runs at a somewhat lower temperature than
the other bulbs, since then its electrical resistivity would be lower.

The resistance of the filament increases by about a factor of 15 between room
temperature and 3000 K. Therefore the room temperature resistance of the filament should
be 144 ohms/15 = 9.6 ohms for a 100 W bulb.
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Experiment 1:
The Room Temperature Filament Resistance of Different Wattage Light Bulbs

Purpose:
Determine the relationship between the wattage of a light bulb and the measured

value of the filament resistance.

Materials Needed:
1. Ohmmeter - digital auto-ranging preferred, such as the VWR P/N 26983-175
2. 100 W light bulb
3. Optional - other wattage light bulbs

Procedure:

1. Measure the resistance of the filament of the 100 W (or other) light bulb by
connecting one of the probes of the ohmmeter to the bottom contact of the bulb and the
other probe to the side of the base of the bulb. This will measure the resistance of the
filament, which dominates the resistance being measured.

2. Determine the resistance of the filament using the equation relating the wattage of
the bulb to the filament resistance.

3. Discuss why the value of the resistance determined experimentally in step 1
differs from that obtained theoretically in step 2.

4. Optional. Repeat steps 1-3 for other wattage bulbs.

5. Determine the length of the filament from the room temperature resistance of the
filament, using the equation:

L=RA.
p

Use the value for the room temperature electrical resistivity of tungsten of p = 5.7 x 10-6
ohm-cm. Use a value for the diameter of the filament of 0.0064 cm.
6. Discuss how the calculated length of filament might be contained in the bulb.
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Teacher’s Guide to Experiment 1

1. The measured value of the resistance of the 100 W bulb filament should be about
9.6 ohms.

2. The equation relating the wattage of the bulb to the filament resistance is:

P:\L2 or R= \Lz

R P
Since P=100 W and V =120 V, then R = (120 V!z = 144 ohms.
100 W

Note that when V stands alone, it represents the voltage. When V appears after a
number, it represents the unit of volts.

3. The resistance determined experimentally is the resistance when the filament is at
room temperature. At room temperature the bulb is off, no current is flowing through the
filament and no power is being dissipated in the filament. The resistance determined
theoretically is the resistance when the filament is dissipating 100 W of power, i.e.. it is on
and the filament is hot. The resistance of a metal increases as it gets hotter. In this case, the
resistance when the filament is hot is 15 (144 ohms/9.6 ohms) times higher than when it is
at room temperature.

(Optional: If an ammeter or a shunt resistor and a voltmeter are available, measure
the resistance of the filament when the bulb is on by measuring the current I through the
filament to determine the resistance using Ohm’s Law: R = 120 V/1)

5. L= RA = (9.6 ohms)(1)(0.0032 cm)’ = 54 cm
P 5.7 x 10-6 ohm-cm

6. The students should realize that the filament length of 54 cm is much longer than
the bulb, so that the filament must be folded or coiled in some way. As they will see in the
light bulb dissection experiment, the filament consists of a coiled coil of tungsten wire.
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Advanced Topic for Answer 5.

The length of the filament can also be estimated in one other way. Equating P in
equations 2 and 3, we obtain for the total emitting surface area of the filament:

S=v’. )
eORT

Recall that at the operating temperature of about 3000 K, the filament resistance of a 100 W
bulb is about 121 ohms. Therefore,

S= (120V)’
0.3 x5.67 x 10-12 W-cm2-K-4 x 121 ohms x (3000 K)#

$=0.86 cm?2
For a long cylindrical wire, S=2nrL. and r=0.0032 cm for a 100 W bulb so

L=S = 0.86 cm?

2r 2w x 0.0032 cm
L=43 cm

which is fairly close to the value of 54 cm determined above from the room temperature
properties.
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Experiment 2:
The Temperature Dependence of the Resistance of a 100 W Light Bulb

Purpose:

To investigate the relationship between the temperature of the filament of a light bulb
and its resistance.

Materials Needed:

1. Ohmmeter - digital autoranging preferred, such as the VWR P/N 26983-175
2. 100 W light bulb

Procedure:

1. Insert the 100 W light bulb in a lamp socket, turn on the lamp and keep it on for
about 5 minutes or more.

2. Unplug the lamp and using the two flat prongs on the cord plug and the
ohmmeter, measure the resistance of the 100 W light bulb filament as it cools. Record the
resistance every 5 seconds for 1 minute and then every 10 seconds for the next minute or
more.

(Note that the lamp will remain hotter for longer if the bulb is placed in a vertical position
with the bulb housing over the bulb. In this position, the heat is trapped more than in other
positions. To keep the lamp even hotter for longer after unplugging the lamp, place a
fireproof pad (such as an oven glove) over the lamp housing to trap the heat so that the bulb
will cool down at a slower rate.

3. Use the results of experiment 1 to convert the measured values of resistance to
temperature. Assume that the resistance varies linearly with temperature and that the
temperature of the filament when it is on is 3000 K or about 2700 C.

4. Plot the filament temperature as a function of time as it was cooling.
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Teacher’s Guide for Experiment 2

1. Keep the bulb on until it gets hot to the touch.

2. Since the filament has the greatest resistance in the circuit, the filament resistance can be
measured by measuring the circuit resistance at the prongs.

3. In experiment 1, the filament resistance at room temperature was determined to be about
9.6 ohms and about 144 ohms at 3000 K (the temperature of the filament when the lamp is
on.) So the filament resistance R and the filament temperature T are related as shown in the
graph below (assuming a linear dependence which is a good approximation). Using this
graph or the linear relationship between R and T, the measured values of the resistance of
the filament can be converted to temperature.

144 ohms——

9.6 ohms |

3(19K/ T |

3000K

4. From 2, values of R vs time were measured. From 3, values of R vs T were determined.
Using these two data sets, values of T vs time (the filament cooling curve) can be
determined.

Note that there are two other ways to demonstrate that the filament resistance increases with

increasing temperature

* Measure the resistance of the bulb as you warm it by holding it in your hands.

* Attach a copper wire to each of the lamp socket screws. Place the bulb and lamp socket
in an oven at about 350 F or 200 C and snake the copper leads out of the oven and
attach them to an ohmmeter.
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Experiment 3:
The Electrical Properties of 3-Way Bulbs

Purpose:

To determine how a 3 way light bulb works.

Materials Needed:

1. Ohmmeter - digital autoranging preferred, such as the VWR P/N 26983-175
2.50 W - 100 W - 150 W 3-way light bulb (or other type of 3 way light bulb)
3. 3 way switch socket (available at any hardware store, such as Home Depot)

Procedure:

1. Find the three electrical contacts on the base of the light bulb. Measure the
electrical resistance between each of the 3 combinations of contacts. The connections are
best made by contacting the ohmmeter probes to the silver blobs of solder. Note that one
contact is the silvery dot on the bottom (contact 1), one is the copper colored annular disk
surrounding the bottom dot (contact 2)), and one contact is the silvery threads on the side of
the bulb (contact 3) .

2. Calculate the expected room temperature resistance of a filament for a 50 W bulb,
a 100 W bulb and a 150 W bulb. Use the theoretical method described in experiment 1,
steps 2 and 3.

3. Compare the experimentally determined values obtained in the first step of the
procedure with the theoretically determined values in the second step of the procedure.
What conclusions can be drawn? Can you determine which filaments are between which
contacts? Draw a diagram showing your results.

4. Place the 3 way bulb in the socket. When they are used, 120 V is applied across
the 2 screw terminals of the socket. Measure and record the resistance across the 2 screw
terminals in the four different positions of the switch. You may also wish to examine how
the switch works to obtain additional information.

5. Compare these data with the data above. What conclusions can you draw
regarding what filaments are on when the switch is in the different positions?

© GA Sciences Education Foundation 1996-2002, All Rights Reserved
19



Teacher’s Guide to Experiment 3

1. The measured electrical resistances are
contact 1 to contact 2 R =35 ohms
contact 2 to contact 3 R =21 ohms
contact 1 to contact 3 R =11 ohms

2. a. 50 W bulb
When it is on, the hot filament resistance can be determined using

R = V2/P so R = (120 V)2/50 W = 288 ohms.
The room temperature resistance is 15 times smaller, so the expected room
temperature resistance is 288 ohms/15 = 19 ohms.

b. 100 W bulb
When it is on, the hot filament resistance can be determined using

R =V2/Pso R = (120 V)2/100 W = 144 ohms.
The room temperature resistance is 15 times smaller, so the expected room
temperature resistance is 144 ohms/15 = 9.6 ohms.

c. 150 W bulb
When it is on, the hot filament resistance can be determined using

R = V2/P so R = (120 V)2/150 W = 96 ohms.
The room temperature resistance is 15 times smaller, so the expected room
temperature resistance is 96 ohms/15 = 6.4 ohms.

3. The 50 W filament is electrically connected to contacts 2 and 3 because 21 ohms
is almost the same as 19 ohms - they are the same within experimental uncertainties.
The 100 W filament is electrically connected to contacts 1 and 3 because 11
ohms is almost the same as 9.6 ohms - they are the same within experimental
uncertainties.
The electrical resistance between contacts 1 and 2 (35 ohms) is almost the same
as the sum of the electrical resistance between contacts 1 and 3 (11 ohms) and
contacts 2 and 3 (21 ohms). So contacts 1 and 2 must be connected across the series
combination of the 50 W and the 100 W filaments.

100W SOW
11 ohms 21 ohm
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4. switch position 1 R = open

switch position 2 R =23 ohms
switch position 3 R =11 ohms
switch position 4 R = 8.2 ohms
5. In switch position 1, no voltage is applied to any of the filaments.

In switch position 2, 120 V is applied across contacts 2 and 3 (the 50 W, 21 ohm
resistor) because 23 ohms is just slightly higher than the 21 ohms measured across
positions 2 and 3 previously. The switch apparently contributes a couple of ohms of series
resistance.

In switch position 3, 120 V is applied across contacts 1 and 3 (the 100 W, 11 ohm
resistor) because 11 ohms is in agreement with the previously measured resistance across
positions 2 and 3. The switch apparently contributes almost no series resistance in this
position.

In switch position 4, 120 V is applied across the parallel combination of the 50 W
and 100 W filaments. In other words, 120 V is applied to contacts 1 and 2 and contact 3 is
ground, as shown below.

120V
1 2

100W 50W
11 ohms 21 ohm

3

This can be determined in 2 ways. First, note that the parallel combination of the 2
resistances of 11 ohms and 21 ohms is

Rp =(R] xR2) =21 ohms x 11 ochms = 7.2 ohms.
(R1 +R2) 32 ohms

The value of 7.2 ohms is very close to the value of the resistance measured when the switch
was at position 4 of 8.2 ohms. Apparently, the switch contributes about 1 ohm of
resistance in this position.

The second way that this can be determined is by examining the switch itself using
the ohmmeter. In switch position 4, the switch terminals inside the housing, which connect
to contacts 1 and 2 on the bulb, are shorted together and are connected to one of the screw
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terminals. The other screw terminal is connected to the threaded part of the housing, which
in turn electrically connects to contact position 3 on the bulb.

In fact, the second screw terminal is always connected to the threaded part of the
housing, which is connected to contact position 3 on the bulb. Note that the first screw
terminal is connected to the following contacts as the 3-way switch is turned:

* switch position O (off) - no contact

* switch position 1 - connected to contact 2

e switch position 2 - connected to contact 1

* switch position 3 - connected to contacts 1 and 2.

Advanced Topic

You might point out to the students that a 4 way bulb is possible by utilizing the
series equivalent of the filaments, by using contacts 1 and 2 only. In this case the bulb
wattage would be

P=V2=  (120V)2 =333 W.
R 288 ohms + 144 ohms

Note that the highest wattage of a 3-way bulb is always the sum of the 2 lower
wattage settings. The reason is that at the highest setting, 120 V is applied across both of
the filaments, so that the light output is the sum of the filaments at the two lower settings.

It is interesting to note that if our electrical system operated on constant current
instead of constant voltage, the three way bulb would place the filaments in series in the
highest wattage setting. Along this line of thought, you might ask your students to consider
what an electrical distribution system would be like if it operated on constant current instead
of constant voltage.

Let's review this topic in a slightly different way. If we have a constant voltage
system and we want to make a 3-way light bulb where the power produced at the highest
setting P is the sum of the power produced at the 2 lower settings: P1 and P2 using

resistors R1 and R?2, then

P=P1+P2=V2+V2=V2[1+1].
R1 R2 R1 R2

So the resistors should be arranged in parallel.

If instead we have a constant current system and we want to make a 3-way light
bulb where the power produced at the highest setting P is the sum of the power produced at
the 2 lower settings: P1 and P2 using resistors R] and R, then

P=P;+P)=12R| +I2R) =I2[R]+ R2 ].

So the resistors should be arranged in series.
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Experiment 4:
Light Bulb Design

Purpose:
To design a light bulb based on basic material and design parameters. Both the

materials and the method of fabrication will be explored by the students. This experiment
should be done in teams of 3 - 5 students.

Materials Needed:
1. Creative brain
2. Pencil and paper

Procedure:
In this experiment, students will design a light bulb and describe the construction
steps necessary to fabricate a light bulb using the information below.

1. Materials glow brighter at higher temperatures and must be heated to above 2000
C to produce significant amounts of visible light. Materials that can withstand these high
temperatures are expensive. Some candidates are shown in the table below.

Filament Material Melting Point (C)
Platinum 1773
Osmium 2700
Tantalum 2900
Tungsten 3380
Carbon 3600

2. The more power dissipated in a material, the brighter it will glow.

3. The resistance of a material is proportional to its length and inversely proportional
to its cross sectional area.

4. Most materials that conduct electricity oxidize and disintegrate at high
temperatures in the presence of oxygen or air.

5. Glass can be easily formed to different shapes, and can be sealed to itself and to
other metals by heating to relatively low temperatures.
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Teacher’s Guide to Experiment 4

This experiment has many possible answers. The students should write up a design
and fabrication sequence for a light bulb that meets the following goals:

1. It is clearly written.

2. The filament material operates in a vacuum or inert gas.

3. A glass bulb contains the filament and its inert or vacuum atmosphere.

4. The filament should be the most resistive part of the circuit.

5. The filament consists of a material with a high melting point.

6. The fabrication steps are clearly described or diagrammed and are arranged in
order.

See the GE booklet about the light bulb for the actual method and materials used to
fabricate light bulbs.
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Experiment 5:
Light Bulb Dissection

Purpose:

To dissect a light bulb, examine the materials used in its fabrication, and understand
the reason for the design and the use of the materials.

Materials Needed:

1. Light bulb - 100 watt or 3 way.
2. Hammer

3. Newspaper

4. Safety goggles

5. Gloves

Procedure:

In this experiment, students will dissect a light bulb to investigate how a light bulb is
constructed. This experiment will be more successful if the light bulbs first are turned on
for about 10 minutes - the students could do this at home. (As it is fabricated, the wire in a
light bulb filament is drawn through a die and then bent into shape. At this point the wire is
very brittle. When the wire is first turned on and heated up, it quickly anneals. In this state,
the wire is still fairly strong, but it is much more ductile.)

The students should carefully break open a bulb by hitting it with a hammer, with
the bulb encased in few sheets of newspaper. They should also wear safety glasses and
thick gloves. Break off any sharp protruding pieces of glass with the hammer. This should
be done under close supervision. Different types and wattages of bulbs as well as 3 way
bulbs could also be dissected. Dissecting a 3 way bulb will be particularly informative if the
students have already performed experiment 2.

Have them identify and describe the optical, thermal, electrical and material
requirements for each of the components.

1. The filament

2. The bulb

3. The base

4. The lead wires that connect to the filament

5. The two welds where the lead wires are connected to the base

6. The exhaust tubing

7. The flare
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Teacher’s Guide to Experiment 5

1.Very high temperature capability, high resistivity.

Note, by looking carefully or through a magnifying glass or a microscope that the
filament actually consists of a coiled coil of wire. It is easiest to see this near the end of the
coil where it is connected to the lead wire. See Fig. 4 for a photograph of a section of coiled
coil wire.

Now they can observe how a long length of filament can be contained in a such a
small space. Have your students try to determine the length of the filament by estimating
the diameter of each of the coils and estimating the number of turns. Recall that earlier we
determined that the length of the filament was about 45 cm.

Note the similarity of the 3 way bulb filament design to the figure in the 3 way bulb
section.

2. Transparent, cheap, formable at low temperatures.

3. Electrically conductive, cheap.

4. Electrically conductive, chemically and thermal expansion compatible with glass.
5. Electrically conductive.

6. Sealable at low temperatures.

7. Sealable at low temperatures.

Also note that the coating on the inside of the glass bulb is a dry white (silica or
Si072) powder coating held on electrostatically to the glass, which can be wiped away to

expose the clear glass.

See the attached appendix 2: The Extraordinary Light Bulb...Its parts and assembly,
a GE publication, for information about the components of the light bulb and how they are
assembled. Note that not all bulbs have the support wire. An interesting historical note:
initially the pump out tube for the glass bulb was on top of the bulb, but this was considered
unsightly. Notice that the pump out tube is not visible in the current design.

Also note that wires directly attached to the tungsten filament must have cross
sectional area sufficiently large so that their resistance is much less than the filament. On
the other hand, the cross sectional area must not be too large or the heat leak down these
leads will be so great that the filament temperature will be much lower, leading to less light
output and lower bulb efficiency.
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Experiment 6:
Light Bulb Fabrication

Purpose:

To fabricate a light bulb that can operate in air.

Materials Needed:

1. Variac transformer or dc power supply or batteries
2. Copper leads

3.0.010 inch diameter Kanthal AF wire

4. 0.003 inch diameter Kanthal AF wire

Procedure:
The teacher or closely supervised students will build a simple light bulb using

materials contained in this kit. This experiment is potentially dangerous so appropriate
precautions must be taken.

1. First, you will need a Variac transformer (preferred) or a dc power supply or batteries.

2. Connect the copper leads (use standard hook up wire or strip a power cord) from the
Variac to the 0.010 inch diameter Kanthal AF leads by twisting the ends together.

3. Connect the 0.010 inch diameter Kanthal AF wires (like the lead wires in the light bulb)
to the 0.003 inch diameter Kanthal AF wire (like the tungsten filament in the light bulb) by
twisting the ends together.

4. By increasing the Variac voltage, the current to the 0.003 inch diameter Kanthal AF filament
can be increased to resistively heat the filament and cause it to glow. For a filament about 20 cm
long, a voltage of about 40 V is required. This can be done in air because the Kanthal AF wire is
oxidation resistant.

Caution: This experiment should be done by the teacher or under close supervision.
During this experiment these exposed wires are at potentially dangerous voltages and
currents.

+ Variac

<¢—— copper

0.010 inch diameter
¢ Kanthal AF

0.003 inch
\/\/\/\N @—— diameter Kanthal AF
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The electrical resistivity of the Kanthal AF wire is 1.4 x 10-4 ohm-cm at essentially all
temperatures. This is quite different than the behavior of pure metals such as copper or
tungsten, where the electrical resistivity increases significantly as the temperature increases.
Have your students determine the electrical resistance of the Kanthal AF wire filament by
calculation (using equation 4) and by measurement with the ohmmeter.

Application note: This experiment can be used to simulate the principle of a hot
wire anemometer, a device for measuring the speed of a gas. In an anemometer, a very thin
wire, usually made out of platinum, a nonreactive high melting point material, is exposed to a
stream of gas and is heated well above the temperature of the gas by the passage of an electric
current. The flowing gas cools the wire at a rate proportional to the speed of the gas flow, thus
lowering the temperature of the wire. As noted earlier in this module, the resistance of the wire
is a function of its temperature, decreasing as the wire temperature decreases (which is also the
principle of a platinum resistance thermometer). The anemometer can be operated at a fixed
current, with the voltage drop along the length of the wire being measured to determine how the
electrical resistance changes. Hot wire anemometers can measure gas speeds ranging from
0.15 m/s to supersonic speeds and are capable of detecting rapidly varying speed changes.

To simulate the hot wire anemometer, just place a multi-speed fan near the Kanthal
filament when it is on. First note the filament color (or if the appropriate equipment is
available, measure the resistance of the filament) with the fan off. Now, turn the fan on and
note the color (or measure the resistance) of the filament. As it cools, it changes color.
Examine the color when the fan is on the higher settings. Note that the color of the wire (or
the resistance of the filament) is a measure of the speed of the air flow.
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Advanced Topic:
Oxidation Resistant Materials

Why can't tungsten wires be used for the light bulb fabrication experiment? If the
filaments are still intact from the light bulb dissection experiment, turn on the light bulb after
screwing it into a socket. The filament will not last for long. You will see a puff of smoke
given off by the filament - this is the tungsten oxide forming and vaporizing. Be sure to
stay away from the smoke - do not breathe it. The reason is that the tungsten rapidly
oxidizes when it is heated - in general, the oxidation rate of a material increases as the
temperature is increased. These oxides of tungsten vaporize at temperatures below about
1500 C. (See the CRC Handbook of Chemistry and Physics.) They are therefore quite
unstable in the presence of oxygen at the temperatures required for significant light output
(>1000 C) from a filament.

This is quite different behavior from that exhibited by the Kanthal AF wires used in
the light bulb fabrication experiment above. These wires are used in kilns in which ceramics
are fired.

Oxidation resistant behavior is also exhibited by nichrome heater wires typically
used for heater elements in electric stoves, ovens, toaster ovens, toasters, hair dryers and
space heaters. These nichrome wires are heated to red hot temperatures of about 600-800 C,
where the air passing by them is heated either by conduction or convection.

The Kanthal AF wires are extremely oxidation resistant even at temperatures near their
melting point of 1500 C. These wires are composed of mostly iron (72%), with some
chromium (22%) and aluminum (6%). As this wire is heated up, it becomes covered with the
thermodynamically most stable oxide. Since aluminum oxide is more thermodynamically
stable that either chromium oxide or iron oxide, a layer of aluminum oxide forms on the
surface of this wire.

How does this layer of aluminum oxide prevent oxidation of the remainder of the
wire? The answer is that the diffusion rate of oxygen through aluminum oxide is very slow
and it takes a long time for oxygen atoms from the outside to diffuse through the already
formed aluminum oxide layer to the unoxidized Kanthal AF material underneath. An
example of the microstructure of a section of Kanthal wire that has had 30 micrometers of its
surface oxidized to form aluminum oxide is shown in Fig. 5.

Let's calculate how long it will take for oxygen atoms to diffuse through a layer of
alumina that is L=30 micrometers thick. The diffusion rate D is temperature dependent and at

1200 C is about D=10-16 cmZ2/sec. The time t for an atom to travel through a thickness L if
its diffusion rate is D is given by:

t=L2. (10)
D

Therefore, it will take (3 x 10-3 Cm)2/(10‘16 cmz/sec) =9 x1010 gec = 106 days. This very
long time indicates that the material under the oxide layer will take a long time to oxidize and
hence will be very stable.

The Nichrome wires are also quite oxidation resistant. They consist of about 80%
nickel and 20% chromium, with a melting point of about 1400 C. Since chromium oxide is
more stable than nickel oxide, a layer of chromium oxide will form on the surface of the
nichrome wire when it is heated up. The wire is stable at high temperatures because the
diffusion rate D of oxygen through chromium oxide is also very low at high temperatures: at

1200 C, D = 10-14 cm2/sec. Oxygen diffusion rates through nickel oxide and iron oxide are
much higher than those of chromium oxide and aluminum oxide.
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Advanced Topic:
Blackbody Radiation

The classical theory of physics predicted that the power given off by a blackbody
would be infinite. Thus, this prediction of classical physics, known as Rayleigh's law, was
absolutely unable to describe the distribution of light from a blackbody. Planck examined
the experimentally known blackbody curve that described the frequency dependence of the
intensity of the radiation and empirically determined the form of the equation that fit the
data. Then, in 1900, he found a simple derivation for the equation that involved the peculiar
assumption that the energy levels of the blackbody that give off the radiation can only occur
in discrete and equally spaced intervals. In other words, these energy levels were not
continuous, but instead were quantized. His was the first correctly determined quantum
mechanical formula and it gave birth to quantum mechanics and led to the demise of
classical mechanics.

According to Planck's formula:

1. A blackbody at any temperature emits some radiation at all wavelengths, but not in
equal amounts.

2. A hotter blackbody emits more radiation per unit area at all wavelengths than does a
cooler blackbody.

3. A hotter blackbody emits the largest proportion of its energy at shorter wavelengths
than a cooler blackbody does. This can be described quantitatively by Wien's law, which
states that the wavelength at which a blackbody emits its maximum amount of radiation,
Amax times the temperature equals a constant or

AmaxT = 2.90 x 10-3 m-K. (11)

These ideas are schematically shown in Fig. 1.
Note that for a typical filament that operates at a temperature of 3000K, the

maximum amount of radiation is emitted at a wavelength of 9.7 x 10-7 m or nearly 1
micrometer, which is in the infrared regime. Thus, most of the light emitted by the filament
is in the infrared, not the visible wavelengths.
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Advanced Topic:
Filament Material

As is evident from Fig. 1, is desirable that the filament (blackbody) temperature be
as hot as possible for two reasons. First, the amount of visible light emitted per unit of
energy consumed is higher; in other words, the light is cheaper. Second, the color of the
light is nearer to that of the sun, which is approximately a 6100 K blackbody, shown as the
daylight curve in Fig. 2. The choice of materials that can operate at very high temperatures
is limited: electric lamp filaments have been made from the following materials.

Filament Material Melting Point (C)
Platinum 1773
Osmium 2700
Tantalum 2900
Tungsten 3380

Carbon 3600

Edison used platinum as the filament in his early lamp experiments. (Actually, he
used a zirconium oxide coated platinum wire, with the zirconium oxide coating preventing
the oxidation of the platinum.) However, he switched to carbon filaments due to the high
cost, short lifetime and low light output of the platinum filament. In 1879, he produced a
carbon filament lamp that remained lit for over 40 hours.

It is not practical to operate any filament at temperatures approaching its melting
point, due to the high rate of evaporation at these temperatures. When evaporation occurs as
a result of operating at high temperature, not only does the filament become thinner,
resulting eventually in failure, but the evaporated material settles on the inside of the lamp
causing it to darken. This deposit absorbs some of the light and, as it increases in thickness,
the efficiency of the lamp decreases. Although the melting point of the carbon filament is
very high, the rate of evaporation is so great that it cannot be operated at temperatures in
excess of about 1850 C, where its efficiency is fairly low. The useful life of this type of
lamp was more often terminated by excessive darkening of the bulb than by filament failure.

Tungsten increasingly was recognized as an ideal metal for a filament, but it was
difficult to fabricate into fine wires. In 1910, Dr. William Coolidge announced that he had
developed a commercial process for producing fine wires of tungsten. The Coolidge
process is still used to produce today's tungsten wire filaments for incandescent lamps.
These filaments operate at temperatures of about 2700 C. If the lamp operated at higher
temperatures, it would give off more light and produce light more efficiently, but it would
burn out sooner due to the higher evaporation rate of the tungsten at the higher temperature.
Thus, filament design is a tradeoff between bulb lifetime and light output.

The filament wire must be very uniform in diameter. Since the same amount of
current passes along its entire length, any thin spot will be hotter because of its higher
resistance, as can be seen from equation 4. At such a hot spot increased evaporation will
occur, leading to further thinning and hence higher resistance and still higher temperature.
This effect leads to rapid failure of the filament: if the filament diameter at any point is only
1% less than specified, the lamp life may be reduced by 25 %.

The lamp designer must be aware that the resistance of metals generally increases
with increasing temperature. Indeed, the filament resistance at the operating temperature is
typically 15 times greater than its room temperature value. For a 100 W lamp filament, the
typical resistance is about 9.6 ohms when at room temperature (so I=12.5 Amps) and 144
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ohms at the operating temperature (where I=0.83 Amps). This leads to a large "inrush"
current when the lamp is turned on, which must be accounted for by the designer.

As noted above, as the lamp operates, filament material evaporates and deposits on
the inside of the bulb, darkening it and reducing its light output. Since the filament material
is evaporating, the diameter of the filament decreases, increasing the filament resistance. It
is interesting to point out that if the filament operates on constant current instead of constant

voltage, the power dissipated in the lamp will increase (P=I2R), so that the light output will
increase over the lifetime of the lamp. This light output increase roughly counteracts the
decrease in light output due to bulb blackening due to evaporation of filament material on
the inside wall of the bulb, leading to a relatively constant light output over the life of the
bulb. Many street lights operate on constant current.
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Advanced Topic:
Filament Environment

It is desirable to operate the filament at a high temperature, but the evaporation of the
tungsten must be minimized to increase the lifetime of the filament and to prevent deposits
of tungsten on the inside of the bulb, which darkens the bulb. Recall that evaporation is
caused by some molecules of a substance having greater energies than others, thus enabling
them to break away from the surface. This process can be hindered by placing molecules of
another substance near the surface. This effect also causes water to boil at lower
temperatures at high altitudes where the air pressure is lower, where the density of air
molecules is lower, making evaporation easier. The evaporation from a tungsten filament
can be reduced by filling the lamp bulb with an inert gas that will not cause oxidation of the
filament. Typically, a mixture of nitrogen and argon is used.

The filling gas conducts some heat away from the filament, causing a reduction in
efficiency. Most lamps above 25 W operate in a gas, because the lower rate of filament
evaporation offsets the heat loss caused by the gas. Most lamps 25 W and below operate in
a vacuum because the reduced heat loss offsets the higher rate of filament evaporation.

The filling gas is introduced into the lamps at slightly less than atmospheric
pressure. When the lamp operates, the pressure rises to about atmospheric pressure, in
accord with the ideal gas law. For a 100 W lamp operating in the vertical position, the
temperature of the bulb surface is about 230 C at the top, 100 C at the center and 50 C at
the base.
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Advanced Topic:
Microscopic View of Incandescence

What is really happening at the microscopic level to cause the filament to glow when
a voltage is applied across it? When a voltage is applied, the resultant electric field
accelerates the free electrons in the tungsten metal. These electrons gain energy as they are
accelerated. They then collide with the ions in the solid lattice and inelastically transfer
some of their energy to the ions. Thus, the system of free electrons and ions cores, i.e. the
tungsten wire, heats up. From energy conservation, this heat must be removed by some
mechanism once the wire reaches an equilibrium temperature. This heat is removed by
thermal conduction down the filament to the connecting wires and by the gas to the glass
bulb and metal base, by thermal convection by the surrounding gas and by radiation. For a
100 W bulb, 82% of the heat energy is dissipated as radiation, 12% is dissipated by thermal
convection of the gas and 6% is dissipated by thermal conduction. Most of the 82% of heat
energy dissipated as radiation is in the infrared region (72%), while the rest is dissipated as
predominantly visible light (10%), as shown in Fig. 2.

For a hot gas of say, hydrogen atoms, the radiation arises from colliding atoms of
hydrogen that inelastically collide and knock their electrons into higher energy orbital
shells. These electrons then fall back into an allowed lower energy orbital shell and emit
light corresponding to the energy difference between the two orbital shells. In a solid, the
situation is somewhat different. The discrete energy level of the electron orbital shell of an
isolated atom is spread out into a continuum of very closely spaced energy levels when the
free electron moves in the presence of a large numbers of atoms in a periodic array as there
are in a solid, as shown in Fig. 3. Now, an energetic free electron (made energetic by its
acceleration due to the applied voltage or by a collision with another energetic electron or by
a collision with an energetically vibrating ion in the lattice) will lose its some of its energy
by giving off radiation corresponding to the difference in energy between the electron's
energy levels. In a solid, these energy levels are closely spaced, so that the radiation that is
emitted is continuous, not discrete as it would be for an isolated atom. This is the origin of
the blackbody radiation discussed earlier.
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Advanced Topic:
A Brief History: The Edisonian Approach

Edison said, "When I want to discover something, I begin by reading up everything
that has been done along that line in the past - that's what all these books in the library are
for. I see what has been accomplished at great labor and expense in the past. I gather data
of many thousands of experiments as a starting point, and then I make thousands more."
This "Edisonian" approach to research and development is the basis for much of today's
progress in science and technology.

Prior to Edison's work on the light bulb, most of the lamps had thick filaments with
relatively low resistance and operated in a series circuit. These circuits operated at high
currents and low voltages. Edison realized that in inventing an electric light usable for the
masses, he had to consider the entire system, including lights, generators and transmission
lines. This led him to the insight that the light bulbs must be arranged in parallel circuits so
that lights could be individually turned on and off, much as gas jets could be turned on and
off for the gas lighting that was common in the 1880's. He also came to realize that the light
bulb must have a high resistance, use very little current and operate at a relatively high
voltage. The low current bulb he invented greatly reduced the amount of (at the time) costly
copper needed for the transmission lines (by a factor of about 100), compared to the low
resistance bulbs proposed and being worked on by others.

Edison's most famous light bulb patent is attached as appendix 1.

This unit provides a natural tie-in to studies in economics and US history that
involve the electrification of society, the industrial revolution, the rivalry between AC and
DC distribution systems and the growth of industrial research laboratories.
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Problems

1. Using P:VZ/R, calculate the hot resistance of the filament of a 60 W, 100 W and
200 W light bulb.

2. For these three bulbs, determine the current through each of the filaments when the
light bulb is on.
3. The filament resistance when the light bulb is on is 15 times greater than its room

temperature resistance. Determine the room temperature filament resistance of the three
bulbs above.

4. The diameter of the filament of a 60 W, 100 W and 200 W bulb are 0.0046 cm,
0.0064 cm and 0.0102 cm respectively. Using the equation R=pL/A and the fact that the

room temperature resistivity of tungsten is 5.7 x 10-6 ohm-cm, determine the length of the
filament of each of the three bulbs above.

5. Using the information determined above, calculate the temperature of the filament of
each of these bulbs using the Stefan-Boltzmann law, assuming that the emissivity € of

tungsten is 0.3. Recall that the law is P/S=80T4, where S is the surface area of the filament,

and the Stefan-Boltzmann constant o is 5.67 x 1012 W/(cm2-K#). Assume that the power
dissipated in the filament as heat is all reemitted as radiation.

6. The lowest 2 wattages of a 3 way bulb are 25 W and 75 W. Determine the
resistance of the filament when it is on at the highest wattage setting of the bulb.

7. Some people claim that if you are going to turn a lamp back on within one hour or
so, then it is better to keep the lamp on (and not turn it off and then on again an hour later)
because most of the energy is used when you first turn it on. Is this true? Is it more energy
efficient to always turn off a light when you leave a room?
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Solutions

a. R =V2 = (120 V)2 = 240 ohms
P 60 W

b.R = V2 = (120 V)2 = 144 ohms
P 100W

.R=V2=(120 V)2 =72 ohms
P 200 W

(e

=120V =0.50 Amps

=120V =0.83 Amps
R 144 ohms

o

. Rroom temp. = 240 ohms = 16 ohms
15

b. Rroom temp. = 144 ohms = 9.6 ohms
15

o

. Rroom temp. = 72 ohms = 4.8 ohms
15

a. L=RA =16 ohms x 3.14 x (.0023 cm)2 =47 cm
p 57x 10-6 ohm-cm

b. L=RA =9.6 ohms x 3.14 x (.0032 cm)2 =54 cm
p 57x 10-6 ohm-cm

.L=RA =4.8 ohms x 3.14 x (.0051 cm)2 = 69cm
p 57x 10-6 ohm-cm

o
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a. T4 =

law’

=60 W
0.3x5.67x 10712 W-em2-K-4 x 2 x 3.14 x .0023 cm x 47 cm

T =2685K

b.T4=P
TON)

=100 W
03x5.67x 10712 W-cm2-K-4x2x3.14 x .0032 cm x 54 cm

T=2713K

c. T4 =
S

2 1y

=200 W
03x5.67x10°12W-cm2-K4x2x3.14 x .0051 cm x 69 cm

T=2701K
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6. Solution 1

For the 25 W bulb, the hot resistance is:

R:\L2 = (120 V)z = 576 ohms.
P 25 W

For the 75 W bulb, the hot resistance is:

R = V2 = (120 V)2 = 192 ohms.
P 5 W
The hot resistance at the highest setting of the bulb corresponds to the parallel
combination of the 25 W and 75 W filaments, so

R =576 ohms x 192 ohms = 144 ohms.
(576 ohms + 192 ohms)

Solution 2

The wattage at the highest setting is the sum of the two lower wattages or 100 W.

Therefore, R = V_2 = (120 V)2 = 144 ohms.
P 100W
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7. It is always better to turn off the lights whenever you leave the room.

The power used by the lamp when it is just turned on is almost 15 times greater than the
power used when it is hot, as we learned in experiments 1 and 2.

(Recall that P=V*/R, V is 120 V when the lamp is on and 0 V when the lamp is off, and R, ,
filamem= 15 Rcold filament SO that Pcold = ISPhot)

The energy used in a given time period t is given by the E = P x t where P is the power.
After the lamp is turned on, the time the filament is cold is very short, certainly less than 1
second, because the lamp is instantly bright - it does not slowly build up in brightness. So
the power dissipated when the filament is cold (but heating up) during the first second is at
most 15 times greater than the power dissipated when the filament is hot for 1 second.
Therefore it is more energy efficient to turn off a lamp unless you plan on turning it on
again within 15 seconds or so.

An example is shown on the next page. The first light bulb is turned on for 15 sec, then
turned off for 45 sec, then turned on again for 10 sec. The second bulb is turned on and
kept on for the next 70 sec.

Recall E =P x t and assume that the power dissipated when the bulb is cold (but heating up)
is 15P, and that the power dissipated when the bulb is hot is P,.

The energy used by the first bulb is:
E=15P,x1sec+P;x 14sec+0x45sec+ 15P, x I sec + P, x 9 sec =53 P - sec

The energy used by the second bulb is:
E=15P, x 1 sec + P, x 69 sec =84 P, - sec

So the second bulb used less energy than the first bulb.
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Time (sec) Power used |Power used
by first bulb [by second
(units of P) bulb

(units of Pp)

0 15 15
0.9 15 15
1 15 15

1.1 1 1
2 1 1
14.9 1 1
15 0 1
15 0 1
59.9 0 1
60 15 1
60.9 15 1
61 15 1
61.1 1 1
70 1 1
70 1 1

Power (in units of Pa)

16
14
12
10

8

o N A~ O

Power dissipated by bulbs
» ™S
—@— Power used by
first bulb Po)
— -l — -Power used by
second bulb (Po)
0 20 40 60 80
Seconds

© GA Sciences Education Foundation 1996-2002, All Rights Reserved

41




References

"Illuminating Physics with Light Bulbs," Harvey S. Leff, The Physics Teacher,
January 1990, pp. 30-35.

"Basic Physics of the Incandescent Lamp (Lightbulb), D. Maclsaac, G. Kanner, and
G. Anderson, The Physics Teacher 37, December 1999, pp. 520-525.

"Efficiency and efficacy of incandescent lamps," D. C. Agrawal, H. S. Leff, and V.
J. Menon, American Journal of Physics 64, 649-654 (1966).

"The Coolidge Process for Making Tungsten Ductile: The Foundation of
Incandescent Lighting," C. L. Briant and B. P. Bewlay, Materials Research
Bulletin, August 1995, pp. 67-73.

"The electric lamp: 100 years of applied physics," John M. Anderson and John S.
Saby, Physics Today, October 1979, pp. 32-40.

"Incandescent Lamps," General Electric publication TP-110R2, May 1984.

Lamps and Lighting, edited by H. Hewitt and A. S. Vause, American Elsevier
Publishing Co., New York 1966.

"The Extraordinary Light Bulb ... Its parts and assembly," General Electric Lamp
Division publication 112-9182.

© GA Sciences Education Foundation 1996-2002, All Rights Reserved
42



Materials Required

Experiment 1:

1.Ohmmeter - digital autoranging preferred such as the VWRbrand Digital Autorange
Multimeter P/N 26983-175. Call VWR at 800-932-5000. List price: $29.95.
Ohmmeters/Multimeters are also available at Radio Shack.

2. 100 W light bulb.

3. Other wattage light bulbs.

Experiment 2:

1. Ohmmeter.
2. 100 W light bulb.

Experiment 3:

1. Ohmmeter.
2. 50 W-100 W - 150 W 3 way light bulb.
3. 3 way switch socket available at Home Depot and most other hardware stores.

Experiment 4:

No special materials are necessary

Experiment 5:

1. Light bulb 100 W or 50 W - 100 W - 150 W 3 way bulb
2. Hammer

3. Newspaper

4. Safety goggles

5. Gloves

Experiment 6:

1. Variac transformer or power supply or voltage source with 100 V capability.

2. Copper wires - standard hook up wire available at hardware stores or Radio Shack.

3. 0.010 inch diameter Kanthal AF, Kanthal A1 or Hoskins 875 heater wire - available from
California Fine Wire Company 805-4895144. Nichrome heater wire will also work.

4. 0.003 inch diameter Kanthal AF, Kanthal A1 or Hoskins 875 heater wire - available from
California Fine Wire Company 805-4895144. Nichrome heater wire will also work.

A kit containing items 2, 3, and 4 is available through the GA Sciences Education
Foundation as item GASEF # 013. Go to
www.sci-ed-ga.org/modules/materialscience/color/materials.html

for details about the kit and
www.sci-ed-ga.org/modules/materialscience/color/orderform.html

for ordering information.
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Energy Bands in Magnesium
At the interatomic distance, r,, in the magnesium
crystal, the filied 35 band overlaps the empty
band of 3p orbitals, permisting cagy promotion
of an electron.

CNETEY

Yi

L, 2p

oy
increasing interatormic distanpe——=

Energy Bands in an
Insulator
Al the interatomic distance. r,, there is a
large gap between the band of vaience
shell orbitals and the next higher band of
orbitals. However, at smaller distances, r,

the filled and empty bands overlap. higher orbitals {(empty)

valence orbitals {filled)

energy

lower orbirals {[led)

interatomic distance
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Figure ﬂ".ﬂ.n axample of a cofed-coll
filament used in mest incandascan
larmps teday. This figure shows gn
SEM microgranls of 8 section of
filament fhat has been removed from
the lamp.
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To all wwhom il may concern

;2 "Be it known that [, TRoMAS ALTAL

of Menlo Park, in the Btate of New'dw

Tpitsd Btates of America, bave lnvadbsll

Improvemens in Electrlo Lumpc, nd’:

mathod of inuntfucturiug the same, {0asNG.

1“‘*2 of which the following is » speclBeition.
Thoubject of thisinveutioniste p

Huillm]m giving light by inoandasoss

lamps ahiall have high ’

Jow of the practical

nvention conwista in

‘mme
obich radintion can take place;:
‘The Suvention frther conals

Aarough platina wirea sealed into the glask
The Invention further cousista in the method |
; manniactering owrbon conduetors of high
k. reslatatne, atne to bo suitaisle for _sl\'iu‘i Tigtit
by incaudesconce, nud in the manner of necuts
‘Ing perfect contact botween the metallia eon

sdnotory ot lendiug-wiree ani the carbon oow

Heretofore light by incandescence :
thinined frow rmda of carbon of one to four
ohma resistonce, Haced tn closed vessels, in
which the stmoapheric nir hae boon replaced
gaoen that do not combine chemically with.
pethbon. The veasel holding the burner
iz been composed of glaas cometited to o me:
Allo base. Thoconneetion betwesn the lead-
‘mgireaand the carbon has been oltained b

olping the carbo to the metal. ‘The lead.
ng-wires havoatways hecu"lur;.wim that thelr
Tealatanon nh:}ll be many times less than the
T, a0d, in gan the pttetiptd of pre--
Dersonabiave becn bo redweothe reslstnnoes
ofthecarbun rod, Thedisadvantageaof follow-

et foar ohma resinianes cuanot e worked in
: jgreat numln_ars it multi ple e without the yh-
Ployment, of mpin eonductors of enntmous di-

rjbl by [
- dimausions aid. good eanductors, aud & gl

wtable, espesially when such enrlion iv small in”

. mosphorio preasure, altloogh wet attacking. -

‘the onarbon, serves to destroy it fime by “air-
wasbing ¥ orthe uticition prodocel] by thorapik 7 7
Enlagn of tho oir over the slightly.coberent

 bighly-hentad surince of thy earlion,

1 hve discoversd that

‘| even s eotion thrend yroperly enrbonizel wnd’

[ mitHemth - of ‘an wtmosphere offoen from e
g .| handred to tive husdred olimm rosiainnee: to the

“Ing thig practice are, that o lany Lavieg but |

censione; that, owing to tho low reainlanco of

the leading-wirse muat be of dar,

lobe camnpt bo kept Hght st the place where .
the wires paas it und are comented ; honoe the

‘oirboa ts couanmed; because there minet be - o

moat & perfoot vaoaum to render the carbon

maias and high in cloctrical venintanes, - .
The use of & pas in tw recoivor at the st

I have
roversed this proctios.

placed in awealed glava bulls exbansted to sue:

passags of tho carrent, nml that it in nbeointely
stabie it very high rinpesatures;
thread e coiled a8 & spiral winl earhoaiaod,
or i any Abrom vegetable substanes whick
will lenve a carbon reaidno after Leating in.

2 elused] eliribor be so coikul, a8 innch as 1wo

‘thongand olims rosistenve wny be obinined -

without presenting o radiating-surfiles grenter
than ihreo-sisxteontha of i inch; that if
much Abrows wmaterin! be rubbed with a plas
tle composed of kuop-black and e, Be o
aintaace may be made Righ or low, neeurding

to the amount of Inmp-blnek. placed aon 1ty - -
that oarlon litlsmenta may be msds by s

combinntion of ter und lamprblack, the laiter
beidg previenaly ignitod in s closal eracible

for severn! houmand afterwanl mojsicowtand - '
dmended uotil it wesomes the consiatonsy of

thick putty.  Small pieees of this materisl .
may be rolied out in the forin of wire as kmall

a8 soven-ohe-thousandths of an inch indisme.

ter and over B foot in Jougbhy, wiel. v sume
may be coated with a son-condicting non-er
Lonizing substanee mul wound eu s bobling of
e & apiral, and the o corbonised i w clused

chambner by subjecting it to high e, the -

apiral aftor antbionization retaining it form.
All these forma ore feagile amd swnnet Iy
clamped to tho losling-wires with. suftieivut
foreo to ipsnrs good esntnet and provent heat-.
i 1 havediseovored thesif plutinnm wirea
wee byverl und the plastio lmp-Dluek mnl tar

APPENDEX !
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material bo molded around it in the act of car-

* bhanizatiop there is anr intimate union by com-

I1c

I3

20

bination and by pressore between the (H'“'bOII
and platina, and nearly perfect contaet is ob-
tained withoot the necessity of clamps; heace
the barver smd the lewting.wires are connect-
ed to the earbon reudy to be
aom-balb. g
When Bbrons materisl is used the plastic
lammp-black and tar are used towcenre it to the
platina befare earbonizing. . N
By using the carboh wire of such high re-
sistance 1 am enabled. to use fine platingnr
wires for lessling-wires, px they will ave a
small resistance sompared to the burner, mul
hence will not heat and erack the sealed vie.
num-bokh.  Pintina can only be osed, as its
expansion ia nearly the samu as that of gluas,
- By nsing u consideruble length of carbon
wire and coiling it the exterior, wlhich is enly
& small portiomw of itk entire surfuce, will forin
the principal radiating . surface; bence I am
able to raise the apecific heat of the whole of
the carbun, and thus prevent the rapid recep-
tion and disappearnnee of the light, which on
& plain wire is prejudicial, as it shows the

" least unatesdiness of the current by the flick.

30

ering of tha light; but if the
the efeet doss not ahow.
I hasve carboiiized anil used cotton and linew

enrrent is ateady

- thread, woor splints, papers coited in varioas

35
- 40

45

. .-in water, and then dried . aud
" glaga holder, and a

ways, ulzo lamp-black, plambage, and earbon
in varions forms, mized with tar and kneaded

- 80 thut the saine may be rolledd ont {nto wires

of various lengths s diameters. Each wire,
bowever, ia to be uniform in size throngheut.

if the carbon thread is linble to be distorted
during carbouization it is to be coiied between
8 helix of copper wire, The euds of the car-.
bou or flanient are secnred to the platina
leading-wires by plastic earbonizable materisl,
aud the whole placed in the carbonizing-chan-

" “ber. The copper, which has served
" distortion of the p et

carbon thread, is afterward
eaten away by nitric acid, and the apiral acaked
placed on. the
glasa Lulb blown over the

" whole, with & leading-tabs for sxhagation by
- & mercary.pump. __Tlx_is}l_:b&,_ whsn & high

placed in the vac-.

»38,508 -

vacunm has been reached, is .-_harlnﬁtically 50
soaled. - S -
With subatatces which are not greatly dis-

torted in carbonizing, they may be coated with

# non-conducting non-carbonizable snbatance,
which atlows ane coil or turn of the carbon to sg
rest upon and be sopported by the other. _
In the drawings, Eigura 1 shows the lam;

sectionally. « is the carbon apiral or t.hread!:

e ¢ ure the thickened suds of the apiral, formed
of the plastic compound of lamp-black and tar, 6o
d & are the platina wires. 5 5 arstheclamps, =
which serve to conoect the platina wirea, ce-
mented iu the carbon, with the leading-wires

z x, sasled ju the glass vuconm-bull. ¢ 2 are
copper wires, connected jnst outside the balb 65
fo the wires & . m is the tube (shown by
dotted” lines) leading to the vacnnm-pump,

which, after exhanstion, ia hermetically sealed

andd the sarplans removed, . .
Fig. Z represents the ploatic material befora 7o
being wound iuto a spiral, s -
Fig. 3 shows the spiral after carbonization, -
ready to bave o balb blown over it. L
1 claim a8 my invention— L
i. An electric lamp for giving light by in- 7§
canilescence, considting of a Slament of carbon
of high resiatanes, made a8 described, and s .
cared to wetallic wires, as set forth. S
2. The eombination of earbon filaments with -
o receiver made entirely of gluas and condact- 8o
ora passitng through the glass, and from whick
receiver the air is exhausted, for the purposes
sat. forth. T
3. A earbon filament or strip coiled and
connected to electric condnctors so that only 85
a portion of the surface of auel carbon eou-
duetors shall be exposedt for radiating lght,
aa sel forth, - o
4. The metiod herein deseribed of SeCuring
the plative contact-wires to the carbon fils. 9o
ment and curbonizing of the whole i a elosed
chaber, substautially us set forth. S
Bigned by me this Ist day of November,

A. D. 1879. . S

. THOMAS A. EDISON. -

Withesses: o -
8. L. GRIFFIN,

JOHN F. RANDOLPH.
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The lwlb is piaced ovar tho maunt. Notice

thar tho mount has bean lurnod ovor,

|

Fhe bulk is marked with tho lamp siza and

tha GE monggram.

The wpper antds ol he

load wiros are bant in-

weaid,
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The lip of the exhgust tuba is heatod

andd cut off,

hent straight out.

IR dare

During this flushing stage, the outer encls

of the load w
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